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Cuadro 19 (continuación 5)/Table 19 (continued 5)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.045 0.043  100 000  4 309  96 320 0.956 b 6 758 113 67.6
1 4 0.001 0.005  95 691   470  381 507 0.995 c 6 661 793 69.6
5 5 0.001 0.003  95 221   264  475 447 0.997 6 280 286 66.0

10 5 0.001 0.003  94 957   275  474 100 0.995 5 804 839 61.1
15 5 0.002 0.008  94 682   736  471 573 0.989 5 330 739 56.3
20 5 0.003 0.015  93 947  1 367  466 315 0.984 4 859 166 51.7
25 5 0.004 0.018  92 580  1 623  458 840 0.981 4 392 851 47.4
30 5 0.004 0.021  90 956  1 923  449 975 0.978 3 934 011 43.3
35 5 0.005 0.023  89 033  2 018  440 124 0.975 3 484 036 39.1
40 5 0.006 0.027  87 016  2 378  429 135 0.969 3 043 913 35.0
45 5 0.007 0.035  84 638  2 997  415 698 0.959 2 614 777 30.9
50 5 0.009 0.046  81 641  3 738  398 862 0.944 2 199 079 26.9
55 5 0.014 0.066  77 904  5 149  376 644 0.920 1 800 217 23.1
60 5 0.020 0.094  72 754  6 835  346 682 0.886 1 423 573 19.6
65 5 0.029 0.136  65 919  8 944  307 234 0.840 1 076 891 16.3
70 5 0.041 0.188  56 975  10 740  258 025 0.776  769 657 13.5
75 5 0.061 0.267  46 235  12 365  200 264 0.706  511 632 11.1
80 5 0.079 0.330  33 870  11 184  141 390 0.638  311 368 9.2
85 5 0.103 0.410  22 686  9 298  90 185 0.559  169 978 7.5
90 5 0.132 0.492  13 388  6 593  50 457 0.480  79 793 6.0
95 5 0.165 0.574  6 795  3 898  24 228 0.174 d  29 336 4.3

100 ω 0.567 1.000  2 897  2 897  5 108  5 108 1.8
Mujeres/Females

0 1 0.034 0.033  100 000  3 293  97 173 0.966 b 7 360 356 73.6
1 4 0.001 0.004  96 707   388  385 790 0.996 c 7 263 183 75.1
5 5 0.000 0.002  96 319   209  481 073 0.998 6 877 393 71.4

10 5 0.000 0.002  96 110   192  480 070 0.997 6 396 320 66.6
15 5 0.001 0.004  95 918   357  478 698 0.995 5 916 251 61.7
20 5 0.001 0.006  95 561   539  476 460 0.993 5 437 553 56.9
25 5 0.002 0.008  95 023   750  473 238 0.991 4 961 093 52.2
30 5 0.002 0.010  94 272   950  468 987 0.989 4 487 855 47.6
35 5 0.002 0.012  93 322  1 144  463 752 0.986 4 018 868 43.1
40 5 0.003 0.016  92 179  1 475  457 205 0.981 3 555 115 38.6
45 5 0.005 0.022  90 703  2 026  448 450 0.973 3 097 911 34.2
50 5 0.006 0.031  88 677  2 757  436 490 0.962 2 649 461 29.9
55 5 0.009 0.044  85 919  3 814  420 061 0.944 2 212 971 25.8
60 5 0.014 0.067  82 105  5 522  396 722 0.918 1 792 910 21.8
65 5 0.021 0.098  76 584  7 542  364 063 0.877 1 396 188 18.2
70 5 0.032 0.149  69 041  10 315  319 421 0.820 1 032 125 14.9
75 5 0.048 0.216  58 727  12 670  261 960 0.751  712 705 12.1
80 5 0.068 0.292  46 057  13 463  196 626 0.670  450 745 9.8
85 5 0.095 0.382  32 594  12 457  131 825 0.581  254 119 7.8
90 5 0.127 0.478  20 137  9 624  76 622 0.490  122 293 6.1
95 5 0.165 0.573  10 512  6 021  37 507 0.179 d  45 671 4.3

100 ω 0.550 1.000  4 491  4 491  8 164  8 164 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


